“Sam SRR N w Prefefea § & |6 amHg T A B

T%Wﬁﬁﬂieﬁ? 3 fra T
(B) ATE AT Bl

(C) v ) e

“Praya% Prashastl had been V(.A) by
composed y whom among the (©)
following in Sanskrit ?

2A§ Harishena ?3% Banabhatta
C) Bhavabhuti (D) Baudhayana

Preferfa & @ 2 9 W % @ @@ W
REeRTH R TR AR AR ?

A Freoe | (B) TSN HC
(C) SRR e (D) e ¥
Which of the following is the large

water lagoon lake situated at the Ei
coast of India ?

A) The Kolleru Lake

B) The Panchbhadra Salt La

C) The Lonar Crater Lake

D) The Chilika Lake

v sy fehas T © e
(A) qfa (B)
&) @D
The whlte ll%ht is
many colours ?

(A) Five

(C) Seven

e e O Ff
wfRme ?

(Ay ofEman

(C) FKRHE

The Great }

coast of whicl

(A) South £

(C) Austral
Pttt
U B % 3

(A) U qoeTHs

(B) SEATELAT 488
(C) . .3, =SHh
D) ST TSg FETe

Who among the followm

President of the Constituent A
India in 1946 ?
(A) Sardar Vallabhbhai Patel
(B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Dr. Rajendra Prasad

MANPIVTH VR BSOS PIVLATETR AXS PITTATE VA S0 ! ¥
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10. “Fomevay” fafsfes § @ e daw |14,
! wifef wfad ¢

(A) wego
(B) wrfy
_(e) W Fifeem
(D) wEredH

“Kumarasambhavam” is the liteas
work of which of the following wri

(A) Kalhan

(B) Bharavi

(C) Mahakavi Kalidasa

(D) Mahadevi

e

) 23 3
(©) 73
“World Book,
which of the fg
(A) 23" Ap
(C) 7" Ag

. ..L:;

ar @
yonett {9
27
(A)
(C) ]
The parts
states had
canal irch
hundre
(A) €
(B)

€)

-




17. fffes 8 @ BR @ dwa AE 20
i e e afv At T

fuTER IR T
A W @) AR
(C) T=u™ ) fomeE
Which of the followi social media
platforms is best suited for professional
networking and job hunting ?

book  (B) Snapchat

Linkedin.

Bhadohi that is located in
famous for which of the/
(A) Carpet weaving
(B) Chikankari
(C) Saree weaving
(D) Glazed pottet
. Prafafeas ¥ 2 H
gaR 7
()
(C) &+
Which of th
of Uttar Prac
(A) Asho
(C) Ok
K Wmﬂ
3 HA ¢
7, W3
faﬁt
(A) ¥
C) =
Surha
also re
Siberif
Jocated
districts
(A) Bi
(B) Ets
(C) Gonda
(D) Sant ab

Vi PN PIVIATEY 4 NNy

FK-3




28, I NeH WA afwar. 2006 & AN TH |29, feforfas
rafty 71 U U, AN A1 G % T ¥ T4l
i s we 1 Frafifa # & 0% (A)

e ?
(A gf (Holding) !
(B) IVT\Ifq (Grove Land)

(C) ‘{aﬁ "@ (Agricultural Land)

(D) fa (Consolidated)

A parcel of land held under one tenure or
one lease, engagement or grant is known
as which of the following according
Uttar Pradesh Revenue Code, 2006 ?

(A) Holding

(B) Grove Land

(C) Agricultural Land

(D) Consolidated

26, qACETETE (UPSSF) &1 Y01 A
L) e s s ffd w
(B) T e wifers franfidly
\ (C) e e we il
\» (D) I R | Hr
B ) EﬁGivc full form of UPSSF.

(A) Uttar Pradesh Specie
(B) Uttar Pradesh Solid
(C) Uttar Pradesh Social
(D) Uttar Pradesh Soci

7. fraw fim "emE g
faeferftaa # & fare T
ay smwen (8
(C) T (
Nivesh Mitra Mobil
initiative of which of
of India ? ,
(A) Uttar Pradesh (
(C) Gujarat '

28, famdao @ fER e
AT T & ?
&) T
(€) e (D)
Dcmonctisution is also known b}
of the following names ?
(A) New Currency (B) No Currency
(C) Cashless (D) Note Ban

g




h

32. Preffea & ¥ W T g grEd 3 |35, ﬁmfﬁf@ﬁﬁﬁfmmaﬁﬁﬁa-
?ﬁmﬁﬁ ' P g ggi?a Knsor‘cm:mmﬁm%?

™ (KLI- Z :

e e i & fere M 2 \(;v)/”ﬁﬁalﬁé? R A e

fem e 2 7 i '
gm?apim (C) @ wE. s (D) oft T I
) . Who among the : }folilowm
B) HHHg inaugurated Kochi-Lakshadwesg
2 WWW Subi%arinc Optical Fiber
© ; > (Kl.l-SOFC)rccently?
\(9)/ To1 T (A) Shri Y/\l\arg:tnéi{‘a Maod
Which of the following awards is given %E; ‘IS)':TlS. ?:ish :
to motivate Cooperative and Milk (D) Shri Rajnath
producer Companies to grow and to 26, & e
instill competitive spirit ? ' i;I!I ol

(A) Dronacharya Award 1o
(B) Dhyanchand Award y
(C) Arjuna Award A

(D) National Gopal Ratna Award
33, Pretuftea # & w17 91 408 Fo8, T
Hfead ?
(A) TSN HEUTE |
o(B)  SRTECTE & FeUTE
(L) TR FETTE
(D) Hige qeue (§Heare eull
Which of the following ports i§
in Kuchchh, Gujarat ?
(A) Mormugao Port i
(B) , The Jawaharlal Nehru P

Paradwip Port '

(D) Kandla Port (Deendayal’¥

34, z@ & A, A sfm A F —fef
g ™A W AVAA ST

et 7% §fea1 (NCDFI) % 5@

(A) TR (B) #el® T 9T 7
(C) AT (D) g

Recently, Shri Amit Shah has laid the -
foundation-stone of the headquarters of (€ _
National Cooperative Dairy Federation \,('*?) b
of India (NCDFI) at which of  the Mho "aTie
: 5 i founder of the
following places ? (A) Moham
(A) Gandhinagar (B) Bengalurus Viaula
(C) Jaipur (D) Anand ;

FK-3




9. Freaferfien i & mom v S a R 7

(A) ™ (B) dm
Oy wifa (D) v
40. Frafefgs # 2 feg R d aft o=
Team ¥ 7
(A) g, 9%  (B) T, @UER
(C) wem, den (D) FRE, T
41, T v Tl s Prefafea o @
Tore wrez & watgarh £ 7
(A) F (B)
(€) = I9E
2. ‘@R IS € R’ @ awim &
foru v v Prefefaa i a s @ R 7
(A) T (B) am=A
- (©) ¥ (D) =
43, T famen 1 wee feem-firmds & wdl
CUENCE
A) fm-fm =W
v - wfinr = 9tz - firm
(C) =1 -av =T - 9@

(D) 5Fa-WFa =T ¥ - Fumd
4. Pofafeadafrafeaigeast 7

(A) w15 Fvaes P e A |

(B) @& HI e e |

(C) ¥ -zl @1 AR e A 2 |

\(Dy- 7 ST 3 a1 3 et R |

45, Frefafea § & gfeem e & 994 HIf :

(B) T
(C) ISEEd (D) WAl

46. Frofufea § @ fra v F1 W@m THaEA
dEa R ?
(A) TEE (B) ¥
Oy EHA (D) ¥

47, R tv | T FA | W@itea v A B W@
HH 2 ?
(A) FH B
(O) ] IR

AN PP TITE FAA eI TV PR AT

(B) HYEH ®HH
EAteH

48.

PR TATEY o AAR WL LAV SONPIVIATIVE rON UL T . N

49.

sl.

52.

55. ‘o A U | fadt foreand 1 s A ?‘

‘Rreemee dem g R 7
(A AB) ot
C) ®w (D) &
a2 3 i e & 7

(A) 3 By
© = (D) ™

i v A AR T ATE ® ?

Gy

Hifre :
() T+ (B 7 + AT
() #fgu+wem (D) Hfeu+&

Saqwr fuga #1 3R fF8 Tm | S

L3 _—
#) ot @ Iwhm
c) wosfam D) FRwtm

‘gt T § R YER ¥ TemeE

o

# 2 7 e
(A) e fran(B P o
© wgmiFn ©®) Yomwfem 0

A PFULA TV & SO WINEA T S ALe R A2



56. ‘9% TWR  gH R || @ AR FHEA
vEEg |
(A) ol e

87, ‘Tm ) Qv || ¥ AT § S 91 AT

w7
(A) wHmE D) :;gmﬂ
(C) wmarem (D) FRaA®H T

“Foret w1 TS wAT HETAR 1 Y WA :
(A) =% HW HH

(B) uT &1

(C) HTERHYI AT
\(P) TR AT i WGT-TGTRT HEA
‘i’ =1 faeim T R

(A) Y& (B) &&=
\gym (D) FTR=
60. awE WY, W EHE 7 S Seiia w1 7Y
Pefrfaadasa e ?

(A) ¥ @ wtam 2

(B) it g B

(C) ¥ =1 =ga A B
")) IR et S R & 3 9

6l Fu frmmwmwEyEd ?

58.

59.

(A) TR (B) I & @&
ey w (D) W@
62. @ve fada ot g = & et ammd
B ik
(A) 10 B 11
(C) 13 (D) 16
63. Fr=fafea # @ fvg sreer 3 aa ud &1
w arfyard & 7
(A) voIY (B) 39w
(C) I3 (D) %%
64, frafafes &3 ‘wm' vz &1 s e
frafmeqd ity
(A) ¥FET (B) =
FK-3

Preffga i w TGE B T N
I Af ; (3. E. 65-69)
T WA SH-HIE B gEE 3
Wmt |wmﬂw Y=
¥ 5 wdlg W %

AT A T 39w A 3R
Mﬁﬂmﬁtmmﬂwv
3R 3 TEA-T § SR A T EW
2 ¥ | @ 3R F v s § Fuw
et G SR A Fww F G T
§, afes e e firm, wf, e,
o7 3k wOE ® dEw 6 e 2
vt gl ¥ v gt i ot vaa € |
¥aw W @ K Rl gl W T 5
ot fft w9z # gfR w6
Tedht | FeT AuTEfuE I ffda wEEE

9
8

# gon ft 3 H Fa R I=E
Tze @ g B e @ 3R 3/ 7% I
AT 1 WA & I HANTE I IR
s agammant|
65.
(A) WRE g ﬁ
(B) wrdta fafdret i graen
(D) WRHN H@®! g
66. W ! Hit e T & wits
(B) I Gt Wt % Wifdes =) qget T
YT &1 -1 T8 AH G |
g 7E 9 |
(D) I et i 7r! H AR TE-

- TN SN PINEATYTN
b FRNPICTATIVE FONPICLATIVL SO TR YL A L

2. ! 7% P saeh) Wi 3R 39T T
$ o1 € T T 5 Wik A 7 B
Iagaa ¥ids dfrg -
N AC) v ffdrt = Sth-e
(A) 3 3ot v o for off ==t |
ASOY 3 It wma Wt frf areeRt @
A T W |

LA THVA ANAPSRTATY VK /S Bt A Ty s






67. Wi Wil ¥ d@es IWE),
o o, &, 9 % SEwl |

wif-
(A) 37 v & wfa a7 R
(B) FHAFARATTR |
(©) 7% Hifees ) wa d T wgr S |
(D) 3% wife #1 WA & gl e
7 Tga |
68. mmmmﬁmmw
AR A TR ? .
() & '
© (D) R
69. wida wmisit % e & sfy W F
g o H afy R wyan R ?
(A) 3=
€) T (D) Fart
70. m;mmmm%
NG S (B) Tz
(C) wediami (D) TWER U
7. s freh fren of ¢

) daamea Ha qHH

(C) wagm

B) wWSgd
(D) 3rai
frafafga § @ 9@ #HR F YHR H
fifaras frnfageo } 7
(a) faftmms  (B) . PrewEns
(C) wwarEs (D)~ Favas
. Frefefas § @ v W= wEr
yRHE@e? i :
(A) wa uB) T
(©) ¥ (D) &
Ygay gfee-feds W w1 @
279 -

(B)

(C) wew -HE (D) IF -«

w8,

77. U T # 119 § fasnfia 0 o 19 9

waar 2 | 3fe @ 17 @ Ranfia fsa g,
=91 9 7= 7
A number when divided by 119, leaves

19 as remainder. If it is divided by 17, it
will leave a remainder

A1 @2 (O3

78. WEAHE; L 284X
36x0.2

. 0 17.28 +x

Simplify : =2
Py 3.6x0.2

(A) 10 (BY12 (C)14 (D) 15
Frafafaa et 3 wafam ()% @m
QU7 AT 7
What will replace the question mark (?) -
in the followmgj fguation ?

5072.19 + 368 +(?)=9018.618
3578.112
; 3578.116

A) 3571.116
gC; 3571.115

2 gt 13 : 9 % g d ¥ | 3 s
HCF 13 2, @ =2 wem wa $ifoe |

Two numbers are in the ratio of 13 : 9. If
their HCF is 13, then find the largest number.
(A) 52 _#B) 169 (C) 117 (D) 143

A NEEEF A 2:3% -8 4

(D) 4

79.

81.
afe e % qa | 2,000 H gfg Bt 2
A 4T S 40 : 57 B @ 2 | digh F
FARH A TR 7

Salaries of Rohan and Soham are in the
ratio 2 : 3. If the salary of each is increased
by T 2,000, the new ratio becomes 40 : 57.

is Soham’s present salary ?
‘W 17,000 (B) 20,000
C) 725500 (D) 34,000
82. feftegad, 20%8m 10T AFIAYGHE |
19#&31&5&13%3&?1@#@;110##
m*ﬁﬁm@ﬁ«t,.w%tu
e § BTl 6 Fer e e ® 7

In a certain school, 20% of students are
below 10 years of age. The number of

students above 10 years of age is % of

76. “wh <it wifea Fh & A % foe o the number of students of 10 years age
W&z %1 95 HIAC | which is 48. What is the total number of
| (A) F&H (B) students in the school ?
(o wfud (D) i1 (A) 80 (B)90. (©¥100 (D) 110
: o Q*Mvsm-n'z;wnmmmw e g s '*""* ATWVR AWPIREATIVS AN SN aTY Y
= AN 62 FK-3
WweeS AT 43“30,5.2, o R
%o_ < a0 < - O —\%’\ PN S
: % c) (Ut |14pod — \w\.-b-gocog’d




LA @a
2 Ky
s
w we o s fva w o o @
mﬁmt%vhﬁmwﬁﬁ 10%

ol o R | g5 Fiww woaw vl
i |

An article is sold at a certain price. By
tcllingitat%ofthatpﬁeeone loses
10%. Find the gain percent at original

”~

2° Nlo®

o6 x" 165‘; %""o 3

§7. 4 wgh 3N 6 TERhAl T B H 1 f

mmmmmm
shame s RA AR eI E | 4o

mzmwmﬁm&ﬂny
FEHAE 7 |

4 boys and 6 girls can do a piece of w
in 10 days while 6 boys and 4 girls ¢;,
do the same work in 8 days. In ho,,

e many days can 4 boys and 2 girls do th,
¥ WO
A) 25% 30%
B i ((g)) o Y 25/2 ®) 27/2
84. )w Ty oW W 3 AR @2 < VRS
24,460 3 6 Qze&rﬁﬁt.@ S 26, 20, 14, 8, ... BT 2181 %2 77
A sum of money amounts to ¥ 4,460 A |
?3ymmdto_! 6.690%:% ll"ﬁthezv'termofthesequeme% 20,
> mpm' ‘ Interest. Find the | 148, ... . \‘
approximate sum. r
“ (A) 22971333 (B) 23,121.66 P S "
(©) 311533 (D) T2.991.66 © -100 (D) 88 \t/;/
85. ¥R W P, Q I R TH S IE |gg e s 1 et 13,86 WA R | 7
8 RwAkiP®MwAm, QRS 3
g 3m@tmtmqﬂ® T 2 3.2 ¥ e 1 2 A el A W #

% Wi % o R | A % o i
- ,_{,soo%wmiikmmt
\‘P Smw partners P, Q and R start a

mmml(lm..looob“iﬂ)

The area of circular field is 13.86
‘hectares. Find the cost of fencing it at the
mof!Squ'metre

S R
%424 = (B) T8 A o>
(© zssos \, (D) ts,‘iaz ’f (

90. wm9Mmﬁnﬂ%zsmaL
Y AT T R AeH % R SR de
A fore @ & ? -

Howlmwinaboyuketonmmnda
square field of side 25 metres, if he runs
at the rate of 9 km/hr ?

(A) 38 ¥B/sec. | (BY 40 FFS/sec.

g

(©) 42¥Fusec. (D) 483Tsec.




M Z J{’PL B2
|q(;:‘4b e /X’% 3t
5. 6. 01 08 « e TG 1 T WM 96, ww ¥ syt w3 o P 5 v AW B
T et 7w @ way d

ufy, qfamw, weh

Choose the Venn diagram which best
explains relationship among given :
Husband, Family, Wife

W09 » S$H

frg g forr # af g @ @ #
% zfa &, wfl %1 Zat # 3
i 102008 () 27% () 2% [ 2T kb g
@ i faa A ‘f\ Intbegivdlﬁ re if Triangle represents
9200 32006 3 healthy people, Rectangle represents old
ﬁqﬁlﬁai%ﬁmuﬂ%ﬁtm i persontdeirclercpmcmsmcn,
Feaqree ¥ e o 1 7 ) ~vhat is the number of those men who are
The average production of 2005 ang %(ﬁ healthy but not old ?
actl to the averag _
:ﬁucme:f w)l,u:gu:lf the following | 723
pairs of years 2e° 3
{A) 2006 3%/ and 2007 74 e S
(B) 2om$/md§ggz 8 %
(C)zoo4 / and 2! (3 ‘v‘ (B)S' © D) &
B 2002 AR/ and 2007 L : o .
g amd, P W IEITE
93 zoolﬁmizoosim:km 98. ?gﬁmtm. it o

T st e| gp3x24+8+4+2-3=27 e
i L) it d“' n'“‘un' . '“ands.
S fo‘rx'mndsfor subtraction

increase in ¢ : 5% * stand
? il
oG m\%? I b..?‘ e ands for addition, then
&
%
99

) P66.67%
% 24+8+4+2-3=17
b e Breo ©61 @6

C ‘ .
04, ﬁqmaﬂiﬁﬁmﬁaﬁmﬂm (A) 58
S ot AR ! (oo e et F & 4 7 aTgRY 00 F
In how many of the_ mmn::'me zdvluhgil
production of mobiles more 3 R b
average production of the g::%ﬁﬂ Choose the correct MirTor M:he he
(A) 1 ®2 [ F i enﬁgun(X)from amongst _
95. ﬁmaﬁiﬁuﬁﬁ?gﬁi‘lﬁm alternatives. ]
wfaerd ?
FiE s e | Y A IAES
increase in production as 4
the previous year the maximum (xz a ) ‘-OVD S )
\ (A 2002 u(g;,,gggg 1 ®2 (©3  ©
(C.).,u.,z.q,o-o—_vsv.mwm-!\" -r-——-s‘!v'-‘mw ll ﬂﬂ?gw‘#"\t ;\;{%}"/‘zﬁm
A 1 Dis“ 521 %:ﬁl‘"gép 53..6-&3




el .. |
estion, one word is
s follomn:lgbg’u fo:xr words, one of
which cannot be formed using the letters
of the given wor“('iig&nd that word.
?MI&I&‘BRA B; TATION
ﬁc? RATION MINISTER
101, 3 ®1 B 3 mé e e 4 e
T T D € @ TR T H 7

set of letters when

Which _one
tially placed at the gaps in the
:smcttcry scgiw shall complete it ?

ard.angnamanand man
dn
(oo ” (37 i
102. mmmamwmgﬁ
:?mﬁﬁﬁhn :
oose the correct alternative from

given ones that will com lete the series.
8, 23, 38, 53, 68, (

S A) 78 (By83 (C)85 (D) 87
@;(:tﬂz::wfm:(?)

(A oz (B) TEE
c) fa=m (D

jon : Den : : Rabbit : (7)
A; Hole Pit

104. BP : % : (7
A) DU M
AR
108, fr=ffaa sgfa # faa A @ 7.
How many triangles are there in the
following figure ?

(A)8 (B)10 (O)12 (P14
los.wuﬁrmﬁmh&tﬂmt,m
’ it 3 gEa & 3 4 e e 8, fU @
trd’faﬂta%mtsﬂnomatmt,ﬁn
“ 2 e 3R gean & 3 4 et wwern @ |

sufar sriftven feufa @ et qﬁe?

q A person moves in north di ction by
9 km, then tums left and moves by 4 km,
again turns left and moves by ¥0 km,
again turns left and moves by 4 km. How
far the person is from initial position ?

—tA) | fEd/1km (B) 4T%HV4 km

©) 9fFf9km (D) 14 ffY/14 km
FK-3 paepeFgnlgeth
2 Y% wyVTSRAF ey

N S ol )
3 - PEVSATY Y FON PR ATEY Y »nnrn‘.'f‘pv..«asman PO VLA TV K AW -~

UvzR

Pyt 3 & A T |
w99 ; T VKA mﬂjmﬁaﬁﬁ
gz H BT 7
T :
L. géyﬁmﬁﬁgmwﬂmmmm
|
. qﬂln:{ammmﬁt
mmz‘mmmﬁm
| ?%tmmm
M. 2 o s 8 & | € 7 W
ey wate €] HA AEC)
av. ﬂlmm%ﬂmm&m&a
:;_(:gt a‘tqn:ﬁtﬂ@mmtl
I |
‘)(%; éﬁm%wﬁl

(©) e | 3 111 5 2 |
(D) At 11 3111 7 & |

Question given below cons ists of a

statement, followed four ar%t:ncms

numbered I, 11, 111 IV. You have to
decide which of the argument(s) is/are

‘strong’ argument(s; and which is/are

‘weak' argument(s) and accordin

choose your answer from the alternatives

iven below the question : t

tatement : Should India go in for
computerization in all possible
sectors ?

Arguments :

L = Yes. It will bring efficiency and
accuracy in the work.

. No. It will be an injustice to the
monumental human  resources
which are at present underutilized.

MII. No. Computerization demands a lot
of money. We should not waste

mone(vc‘)\n it.

IV. Yes. When advanced countries are
introducing computers in every
field, how can India afford to lag
behind.

(A) Only I is strong.

B) Only I and II are strong. %ﬁ

C) Only I and III are strong.

(D) Only Il and I1I are strong.

[» ]



108, 3 fog g s # O WU I I0E 412 [ | gwsiean &5 e -
mnmmamm(ﬂﬂilam mg'm:mqﬁmmmaﬁw
w3 grons W RER (A, srim P
s ¢ ok fofs @ & 5wl @ mmgm{%ﬂm“
m(t)mimt/ﬁl SRS Tt PR 2l
o : 27 A % HIEE A PR B BB, 3w (2) H, A e v  w
Tt & | | o 10 % F1 H9 F FY 2 G F
arong : 1. 3 27 F O BT A B t.ﬁmmm,u?ﬁnﬁhm‘tﬁ?:
ﬁ g Tgafa A | gt | '
11, Tt w9 F R FREE [ fefafea s g § wh gwizan & o
o a8 | 4 e 4 R | E! IviE qeEE
(A) ae aron | Hafifka d | 3tk vl % wed # v faveion o @
B) e T 11 Hatiea @ | 3fte fie 3fra artaré @ weh gt | s
© a1k | & i STl % e 6 o T w
D) jﬁlaﬁ??ﬂﬂmt' 3 13 @t A A 1-10-2005 H)
In the question below a sm;:'r:gnlt f@lﬁ*éﬁéﬂﬁ?’mgl. ,
followed by mymﬁﬁsmw the | Q. Nos. 109 to 113 : Following are the criteria
for selection of computer professionals in an

and Il is given
statement and the following assumptions
and decide which of the assumption(s)
is/are implicit in the statement.
Statement : Imprisonment for 27 years
made Mihir Kalal the President.
~ Assumptions :
1. One who will be imprisoned for 27
e’ 2 LS04 m will become the PTCSidcnt.
4 dLy To become the President
. imprisonment is a qualification.
' ';'-, A) Only assumption [ is implicit.
" 3874 4 assumption II is implicit.
; C ! _impllcn.
I nor I1 is implicit.

o a'._i :

:

: —«34"\‘»1.5

(4) 1 37 1-10-2005 %1 21 78 @ % 3k 30

PONPRUTN PV N A TS AN

AANPARAT Y FTAPILLN T e

organisation :
The candidate must -
(1) be a Computer Engineer or MCA with

first class having minimum 65% marks.
(2) have secured at least 50% marks in the

Selection Test.
have secured at least 40% marks in the

(3) ,
Interview.
not be less than 21 years and not more

“
than 30 years of age as on 1-10-2005.
In case of candidate who satisfies all other
criteria, except :
A. At (1) above, but is an Electronics
Engineer with 70% marks, the case may
be referred to the GM, Recruitment.
At (2) above, but is having at least
2 years’ experience of working as a
Systems Analyst, the case may be
referred to the Chairman, Recruitment

Committee.

In each of the following question,
information about one candidate is given.
You have to analyse it with reference to
the above criteria and condition and then
decide the appropriate course of action.
You are not to assume anything other
than the given information. All these
cases are given to you as on 1-10-2005.

TATY . AN PINEATIYR O WA A TVY S AN PSREA WL AN TN Y S
FK-3
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109. o 75% 3t & e v ffe et
R | 3 I 6 JEE, 1976 HY FA1 T |
<R W e A 70% 375 3 HIETEHT
3 429 3 s R |
(A) o gesfizam & v e R |

M;ﬁﬁ@ﬂﬂﬁﬂ%m
|

SR |
(D) uﬁmaﬁqﬂ,wﬁaﬁﬁmmt |
Sanjay is a Civil Engineer with 75%
marks. He was born on 6™ July, 1976. He
' scored 70% marks in the Selection Test
| and 42% marks in the Interview.
(A) Ifthe candidate is to be selected.
| (B) If the candidate is not to be selected.
1] (C) If the case is to be referred to the
‘ Chairman, Recruitment Committee.
( (D) If the case is to be referred to the
GM, Recruitment.

aiaﬁé;mm@ﬁq,ﬁ;mﬁﬁmm

| 3 559 3 A T 3
| mf&smaz1999ﬁm%aqﬁqm

\ ' animiﬂmiimagqaﬂtm
\‘ i 2002 3t fereen TTfere 3 &9 # 9arTa 7T |

1
\ 110, T 7 3 1998 ¥ 22 FA & 30 4 70%

m&mmmﬁmm% |
- ® ﬁwﬁmwwwﬁﬁmm% |
’k e A serd, Wl gl &t ST

jew and 55% marks

company . He joined an IIT
promoted S
December 200 o Wik

(A) If the cand
(B) Ifthe candida
(C) If the cas¢ is 18

Chairman, Recruitigs
(D) If the case is to be'n
GM, Recruitment, =

FK-3

Jf;

111. m%ﬂm(m&a)ﬁso‘%mm
T gt 3 78% 31 ST

< e 3R TR I 3% .
55% emt*m% ; | % 2001 ¥ firem

w0 HW W QR E | T
=t 19 s, 1980 % | "

(A) e < R e E%
\@/:ﬁmmwmm‘% 5
|

(C) af wmen sveaw, Wl wfuf w o
s | |
(D) f mmee SfrH, sl bt o S R
Ankit scored 80% marks in B.Sc. (IT)
and 78% marks in Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19" April, 1980.
(A) If the candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee.
(D) If the case is to be referred to the
GM, Recruitment.

frora, T SRR AR, 2003 F 22
ﬁmﬁaﬁnwﬂmﬁn%aﬁ%m
Il B3 | 383 =R vhen ® 70% 3
v AT 48% 3 Wt TR |
AK) 2f2 Iefteam @ <o R I R |
(B) e Faftear ) =@ A PR IR |
(C) A Hwen Fea,
w R |
(D) IR |

112.

Vijay, a Computer Engineer, passed out
final examination
2003. He

with 72% marks in the
at the age of 22 years in

vyt wfif &t

secured 70% marks in the Selection Test

“and 48% marks in the Interview.
(A) Ifthe candidate is to be selected.

(B) Ifthe candidate is not 10 be selected.

(D) Data inadequate.

(C) 1If the case is to be referred to the
Chairman, Recruitment Committee.

i BB PINDA YR PO WAL TV R AN PSS BT AN PERINTEVR



113. Wsmm*mww. :
t|wmmmmﬁss%

gfm"‘*g*mmumxyzm

st wa o R wfere

& %9 3 o fra |

(A) 2 Ifrgam & v e am R |

(B) AR Ieficar & v 7 e e R |

© “ﬁ‘gqmm,mﬂaﬁﬁﬁﬁm

|
) T HAEER |

. Divya is a Computer Engineer with 80%

; marks. She scored more than 55% marks

! in the Interview and the Selection Test.

She has worked in XYZ company as a

g Systems Analyst for more than 5 years.
(A) If the candidate is to be selected.
(B) lfﬁnecmdidateisnottobesclectecl
(©) lfthecaseistoberefaredtomc
(D) Data inadequate.

114, mwg&ma&mﬁtwimt,
i 3 # SR g @ fe W
< = g e & sk =t Rt &
AT T B | B
(A) W%mMﬁmm

\Mtammmml
grard ghfea FA * fo
fpgiR &1 &= =Y
forer - v e ITET |
©) w@ s FRh d 34w
a1 AR |
(D) aﬁmm;,mhhvﬂzaﬁ
At @) 2R & &A1 =1EC |
You are stationed as a police officer, an
agimedaowdatalonlﬁiraccmaa
teenager of theft and attempts mob

lynching.Youshonld:
(A) usefomctomesttheaemmedfor

questioning. A
(B) teenager and disperse

rescue the
the mob to ensure fair trial.

©

(D) let the mob punish the accused if

enough proof available.

3 T % fou Pars

(B) mm
T4 H Hrtan HR =Y |

ywma' gt i g
: ( iy e g |

You are stationed as a police officer, you

liable information of preparations
ing local body

the
electoral process.

conduct preventive detentions t0
avoid subversion.

mobilize auxiliary police
au tation in vulnerable areas.
ban political campaign events and

(D)
restrict assembly.

116. imwrhatg-mﬁhm&igmuga

v;?’:;:m:n:ﬂim Pt

1 AR |
As head of police in a riot-hit mixed

religious locality, you should :
indefini

table concerns with municipal
©
engage elders 1o reconcile groups

(A) impose nite curfew till
authorities for resolution.
act tough on miscreants crossing
(D) !
through dialogue.

make the accused confess under
duress.

Mn‘wmnﬂ*w*mw”"'v

[#)
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tensions subside.
(B)
community lines
FK-3
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3 v f“ﬂ%wﬁmi; 119.311‘10?5%%'
1. 30 e ot T O e st & T

o Gm b | wmeils
Sy 2 mmmmzlmﬂﬁmt%ﬂ
() wrioredt — L s ol @ A L !
wﬁfaﬂuﬁﬂw’rﬁz‘z‘l@ﬂaﬁmﬁm W%ygﬂ:ﬂhm:
You are stationed as a olice officer; 10 !
‘K’?’ﬁm furth‘cr c‘:(\iscs of card cloning at (A) mmm@ammmm
§, yous yould &
(A) ti:?npnr'arii]y. disable all ATMs in AT A # 7 T SR 2T fEe |
the jurisdiction.
(B) ?xa%hinc Al'_l'M machine access 108 (B) ™ g A= & weft e 3t
or anomalies. ) aftramTi
(C) place one observer cach in all ATMs HA AR
to identify suspicious accomplices. 3 reatol A e =i |
(D) purchase card cloning machine ’
prototypes 10 understand methodology. (C) ™ 3{5\ Fed =fee 2ftp Sl g‘f‘
118. m?ﬁa%ﬂhﬁ!ﬂt,@iﬁma&ﬁ?ﬁ ﬁﬁ%maﬁmﬁmaﬁm
g m‘““é ﬁﬂgl hal 3“%‘ \Q/ﬂﬁ ot e =i, 3
it @ e ¥ foro it feaa mﬂwyﬁwﬂﬁ%mxa
£ Qg T T R | I : v =T |
(A) riphd ﬁg;T'ﬂ afie, &fdT T You are a constable in a special cell that
% st % faes wEd U deals with cyber crimes and online frauds.
" w1, | - You have been trained in various aspects
& %\ﬂ! Tl aﬁ"tﬁmq e o el of cyber security and digital forensics.
k mﬁﬁfmm e AR | However, due to a shortage of staff, you
(€) wewd &1 f%t!ﬁﬂ HE =Y are assigned to a patrol duty where you
ﬁﬁﬂma{wﬁ"( 21 ¥ Mg MY, Holl HIEd have to patrol the streets and respond to
o ?’3 ; A1y | . emergency calls. You feel that this is a
- g“a e fofa :ﬂgﬂﬂ:ﬂa boring and mupdanc task that does not
You are an lnvcstigatlin officer; the Wit your R pYou shotis
‘Z&"Q"’m“%“f?‘d- i VIP assassination (A) refuse to do the patrol duty and
manipulating ?\lz? cnc}::u%%d ?:\Itt],ﬁ:nc::; insist on staying in the cyber el
.%‘}\d)sesc? mcnlsure acquittal, You should : (B) do the _P‘“m‘ duty reluctantly and
co“gcg d'o{‘ records but secretly complain about it to your su eriors
(B) remill inlogue against accused. and colleague QERAONS
facts ml;!‘\);?g‘\:r ed ‘and present C gues.
% F‘f;tg,‘\d ‘8 agree But s‘uobl:'nr\‘i’t weakly " (ligol:l;‘c patrol duty but constantly
(D) @ioril(i‘dtﬁw\g&?s“:tﬁ:gdcﬁlcc' ot (D) do hor OPECRINILY GEtRking |cave.
independent professional ju‘:ltgcnyé::r andt l:af-):t;‘o‘ duty enthusiastically
R ' yom the experiences )
e s Y7 AN WA BT AN RN PO BN T AN other patrol officers. fiteee o

a3 PN PO L
AT
16 VA PO PRA DY L NP NEA Y
- v CE S
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120, R ¥ TR ¥ it I T

frfieres =) TR B =ee |
When investigating rape forensic
evidence from victim, you should :
(A) complete documentation
with FIR using pseudo-name.
\_B) personally interview the victim in
plain clothes to build trust.
(C) focus on Medical test ruthlessly
without any women police present.

along

(D) transfer to equri;nced_ Woman
Inspector ‘without direct
involvement.

121, TR IR e & S T 5,
FuR T w & R AT T
e g e & i 5L E | S
(A) wiEe R & e f

et ®1 arTeR A =Ry |
(B) ¥R ¥y % e 59 &t 1
9 | gEAida HET IR |
,Wmﬁ@ﬁiﬁmmﬁm
¥ FATER I =11RT |
(D) s H F9ER A E-aE |
@ A T BC TH & WWH A Hid
A1 =T |

In the climax stage of a nationwide terror

manhunt, you learn your only parent

suffers a debilitating stroke. You should :

(A) handover reins to accomplished
deputy for family priority.

(B) remotely coordinate certain areas
without Ops leadership.

(C) conceal news avoiding distraction
till mission completion.

(D) commit singular focus expecting
siblings to handle parent.

D q
o mmﬁmmfm aﬁ%ﬂgu
olice officer, you notice certain
f;?i;iozs minorities  being  denied
neighbourhood entry. Youshould:
(A) arrest and prosecute housing
societies flouting laws.
(B) refer complaints to state s minority
welfare schemes. .
(C) organize multi-faith community
dialogues to ease tensions. i
enforce diversity by posting
minority community officers.

123. @W*Wﬁ’ et A

ST
(A) W%M%MW
wadEe! ) afafgE e =R |
®) F@ IEwm ®W W TR W
T IR A HET IR |
Oy IR % Rees T SgRrEe
HIETE AR HE! TR |
(D) Frpmm 7w H& W AEEIUEHR
T Y SE T =R |

As a police officer, transgender citizens
report facing harassment and dignity

violations during law enforcement
iteractions. You should :

(A) depute gender-rights community
@) volunteers for engagements.

implement mass sensitization
©) :
against offenders.

drives on appropriate conduct.
enforce strict disciplinary actions
(D) take complaint and forward it to
” .Human Rights Commission.

WYL COAPIUIATY

PR ITURA TR AN RSN AT N AN WA T Y R
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124.

n(A] Station House Officer

FK-3

.tzaegfaamﬁmﬂ‘aamﬁ,mw

s e T ¥ w0 #, H AN HE
i m‘mfm&aé‘aﬁwwﬁﬂhaﬁm [

(A) ST offfaat H TER fepu,
frr. W T A wers & e
HAl | )
coarfy 3 oo, T i faem

% Haferd

(B)
Ay FTE AAEERAA
Al |

Sy afest % e wHaT 3310,
Ry 3 ST 1 e T |
srfira Ao wedt 1 An HE
w1 & v frnti forafya & |
As a police officer, what would guide
your decision-making in enforcing laws 7
(A) Strict adherence 10 the letter of the
law, regardless of individual
circumstances.

Balancing legal requirements with
empathy and consideration for the
situation.

(€)

(D)

(B)

(C) Following the orders of your
superiors without questioning their
judgment.

(D) Applying personal moral values
even if they conflict  with

established regulations.

ﬁé%@gmémﬁﬁgwm‘mm
%|ﬁﬂﬁﬁi§ﬂﬁ@®?w:{aaﬁrﬂﬁw
& 9 qfera R F1 A R 7

(A) Q’ﬂmiﬁmﬂﬂ
(B) wdhet AU
() gfera s
(D)  39-wEA (I

As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

(B) Circle Officer
(C) Superintendent of Police
(D) Deputy Inspector General

AC)

et

(B)
ﬂﬁ-ﬂwﬁaxﬁm‘sqﬁaﬁ%mﬁ
Maﬂﬁﬁuﬁﬁmﬁ‘ll

(C) g@ﬁmm@:ﬁﬁmaﬁm

(D) mmmm@ﬁmﬂm
) 7 (A A A Yarst &

Srzerefet a <TRe, |
certain religious

customs  violate Court
directions on entry of women in places

As a police officer,

Supreme

of worship. You should :

(A) enforce directions by removing
opposing groups if necessary.

(B) publicly threaten charges against
customs upholding court rulings.

(C) avoid the situation by taking
leaves.

(D) sensitize opinion leaders leveraging

spiritual heads’ assistance.

127. mﬁga(?)%swnm-sqgaaﬁm@ﬁ\

of &= qWE A 7 o
(B) E’.‘i
(D) wrEm

Find suitable alternative in place of
question mark (?).

(A) 9H&
C et

Mother : Child : : Cloud : ?
(A) (B) Loud
(C) Rain (D) Weather

Shine

o







128. Fefafea we o %9 wez foo mo # | 3
fam 1 Sigw 39 s fard §
I T B T S g R |
(A) ReA B) z@

©) ¥ | (D)

In the following question, some words
are given, They have some common
features except the odd one. You are
required to find odd one out.

(A) Annoy (B) Distress

(C) Harass (D) Ravage

129. f2u 7 fmedt & ¥ 9y @ fee g4 o
ST B B

Choose the correct alternative from given
ones that will complete the series :
2.3,15.9,79.6, 423, 2574, (?)
5 (A) 5632 (B) 8432
i (C) 10300 (D) 18067

A
> 130, w R g2 W § “MADRAS” #I
“OWNHEQ" foran aren # | 3¢t g2 &

"fé’q “SUNDAY" %! ¥ féran sem ?
2% 7271 In a certain code language “MADRAS"
{« *7 is written as “OWNHEQ". How will
s “SUNDAY" be written in that same code ?
WA . (A) WUZRYX B UWZRYW
s (C) WUZWYR (D) UWZYWR

131. v I ¥ 7 fdt weran R, e ag st
2rd 3 gga ® 3 3 feh s @ | w

2 ¢ 3 s 2 sk g @ i 7 Red
\\® M g | 319 98 A Y faig @
frafemad ¢
(A) IW B)
(C) zfam (D) qfFm

Shyam travels 7 km North, then he turns
L to his right and walks 3 km, He again

turns to his right and moves 7 km

forward. Now in which direction is he

from his starting point ?

(A) North

(C) South

s

East
(D) West

PEBC
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134.

5

Py — Ram*

\1
ub:’q Yy ’)'S:" Zq_.é- [
& //\:\L/\; 5l

'rm@w:h't_ | T8, T H
wié & | T F e we & | o, T B
24 § | T, vitae g B ) Ofkm, TR F
wié %1 &2 % 1 Ak, g A Frw TR
wafua  ? :

(A) SHrorsh (B) ¥

(c) wré DY i

Suresh's sister is the wife of Ram. Ra(n
is Rani’s brother. Ram’s father 18
Madhur, Sheetal is Ram’s grandmother.
Rema is Sheetal’s daughter-in-law. Rohit
is Rani’s brother's son. How is Rohit
related to Suresh ?
(A) Brother-in-law (B) Son
(C) Brother (D) Nephew
s §rIgae '
afy 7=z “SPIRITUAL” & gt 3R vi=d
4T 1 A eE § age e s R,
7t yHr WY 3R B3 HEH W FA:
A 3t A wew & wgw g T 2, @
Ju sz § wgd # feah Afedl & A=
I & s & (1 A 3@ 1 98) R 7
Siirot e s i & 7
If in the word “SPIRITUAL”, position of
second and fifth letter is interchanged,
similarly position of fourth and sixth
letter is interchanged with seventh and
ninth letters respectively, then how many
pair of letters in the new word have as
many letters between them (either
forward or backward) as they have in the
English alphabet series ?
(A) 3 (B) 4
© 5 (D) 6

‘Z‘me(noon)%mgﬁﬁm
;;ﬁ;m 10 e w, =2 &t g§ m g

A clock is started at noon. By 10 minutes
past 4, the hour hand has turned through

(A) 120° ) 125°
() 130° (D) 135°
20~ H =

| f)/? >

S\ ‘Q_PLKP T-
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135, Prefafaa Il &1 sw = sk =

frw 0 wIH T I |

Study the following figure and answer
the question given below.,
[[]- shrfa=/

2\ 1 Trained nurses

5;3

/\ > s i

Nurses in hospital
e 7 | W g Srar & 2 :
(A) i &

(B) wfanfya wfiféra =&

(€) Frevar # ffea 7@

(D) mmaﬂ

What is represented by the number 7 ?
(A) Trained nurses

(B) Unmarried trained nurses
ied nurses in the hospital

(D) Married trained nurses

6/ 2

136, Pr=fefes # @ #19 @1 3@ ¥, 904,
T & ¥ie FaU H FES e @

L6

Which of the following diagrams best
indicates the relation between India,

,Gujmt.Sxm?

—69

PR AL

\}9)”35

Is) w g & R M 4 x3x 3 @A E |

140.

138. ue dfer o fufee ard & 178 3 Ed & 15

A TR, @ 39 ufE § IEfEn € 5
He e & 2

In a row Mihir is 17* from the left and
19"™ from the right, then what is the tota)
number of candidates in that row ?

(A) 29 (B) 31

(D) 36

HTA™ 4 x 3 % futa wos i@ T 8 @
me & | F FEW 4 x 3 % Rl wew
arer & T e § | 3w 3 x 3 % Rl
e B o1 H ot g | 3 A w5 1 E
s aet B2 Al # e fovan e & | 9@
fire 12 v & P o o ftT & 7
There is a cuboid whose dimensions are
4 x 3 x 3 cm. The opposite faces of
dimensions 4 x 3 are coloured yellow.
The opposite faces of other dimensions
4 x 3 are coloured red. The opposite
faces of dimensions 3 x 3 are coloured
green. Now the cuboid is cut into small
cubes of side 1 cm. How many small
cubes have three faces coloured ?
(A) 8 (B) 12

(C) 16 (D) 20

Preiferfaa e # w v e T &, 3%
are = v v f e &, o & o R
M W& & W w ITN F AT A
gead TR |

In the following question, a word has
been given, followed by four other
words, one of which can be formed using
the letters of the given word. Find that
word.

MEASUREMENT

(A) ASSURE (B) SUMMIT
ES (D) MANTLE

AN A YL AN SSGA T P SO WY S AN PINEA TP AN RS o

‘
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141, T Qi o Fefta saen % ww 142.ﬂ%mﬁﬁm3ﬂ13ﬁ“§"“ﬁ“
soifra i frewd fag T E |
HE H AQ F H AW R @R | A %ﬁaﬂmm@mm%,
_ Ry it Pl e s ar Frem T 8
(1) PEIFHSATEAMR | iqaaqiaumﬁi/;?;?
HYA

() m%mmm%;
(3) 7 3 T 3 Sy A |

remembers the following details :

(1) The code starts with the digit 5.

A o s
A B 2 |
IL. mm:ﬂﬁm%,ﬁﬁ@?m@

(4) e 37 g 37 &1 31 R | mﬁgﬂmmwil
s > 1. mmmﬁ'ﬂ%l
m,nf&xﬁrﬁmmmg‘l,aﬂlh* 2 m@ﬁmmﬁﬁﬁmﬁmil
3 wdarren 3 forg =T A TRE IS IIL. mw&a_mﬂmﬂﬁ%ﬁ%
Tt 5 sfera e 2 |
Preasfifa fop & | el o1 e @ | (A) e Fred 1 @ I 8 |
Ly e (B) aer Farsard 11 STE T 2 |
A scientist is trying to recall the access (©) [ 3fyc 11 2 3138'@3;{%11
code to a secure laboratory. He 1 3 111 2T STFE FAER

In the question below two statements
followed by three conclusions numbered
I, II and III are given. You have to
assume everything in the statements to

(2) The code ends with 987. be true, then consider the three
conclusions together and decide which of
(3) The second digit is the sum of the them logically follows beyond a
T ” reasonable doubt from the information
first digit and 3. given in the statements.
(4) The third digit is half of the second lS'taten\;‘.;g BRI shape, has yolume.

digit.
Now, considering these conditions, the
scientist has narrowed down four
potential access codes for the laboratory.

Find the suitable one.

BY 584987

(D) 548987

(A) 542987

(C) 563987

SONPILN CFY £ ON PIVERTIY L AN PIENOPTR PR PACTATIY S FANNIATI VL SANPETATUVE AMNPNTATSVL 20N s 0
S o A8 AR

21

II. The knowledge is like water,
flowed from one side to other.

Conclusions :

I.  The knowledge is interdisciplinary.

I[I. The knowledge is bound within a
specific area.

III. The knowledge influences the core
of mental activity directly.

(A) . Only conclusion I follows.

(B) Only conclusion II follows.

(C) BothIand II follow.

(D) Both I and 111 follow.




143. =% ey 91 S e v daem
sfa  wrh By =

: AT R |

Choose the alternative which closely
resembles the mirror image of the given
combination.

BR4AQIGHI

(B) IHGIQARAH
(©) ITHoIQARSH
(D) TH9IOARSH

144, v T 6 sty (X) # R zwei @
(1), ) 3) 3 (@) & F 2 @ ImHh
Find it hih f

ind out which of the fi
and (4) can be formed “},“:;‘3;‘32;52

O

MO (2 .3 @
38 T8
145. =R famedi # & van wmd R e e @

forgare e g T g e 2

W)
L 1S
(4)
B#HI®i 1D, CH
219 A DEFR
DisC’'s
father. E is D’s mother. 1 w is .A

related to D2

(A) Grand mother
(B) Grand father
(C) Daughter | _
(D) Grand daughter

147. mﬁéuﬂammﬁﬁqw

Wit o arelen 9 & 7

1. 9%H 2. @

3. fa 4. g

5. @M. '

Which of the following option would be
meaningful order of the following words ?
1.  Exhaust 2. Night

3. Day 4. Sleep

5. Work

(A) 1,3,5,4,2_By 8,5 1,2,4
" (©) 3,51,42 (D) 35554
148, IR RIAAB=E

Choose the figure which is different
the rest. B

Rl 3 cwu:'~
LICIE Ml GHEESHET F
3 @ (5)

D @
®) @

(1)
© 3 D) @

wE A # A6 ) g w e I @
et & | 3 2t v w2 | FEt & W Sl
2, A 2t w e wh oA 7

(A) 38 e (B) 47z

(C) 55fmz 59 fime

The number of apples in a basket
doubles every minute. If the basket is full
of apples in an hour, when was the
basket half-filled ?

(A) 38 minutes (B) 47 minutes
(C) 55 minutes (D) 59 minutes

Tl

149.

2

WA H 108+36x%+; P

2
Simplify 41085365 - + 2 xi30
4 BTy

1 1
A 1— i
@ 20 20

150.

22

(C) 2; (D) 2H
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